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OR (3121a1)
Describe the principle of separation of D.C.
generator. Distinguish between a generator an
alternator.

Slodflo WeX & 1M fugid &1 quis & |
TP SI-Rex doT gdad®d & o149 A=<} &l
s Y |

8.  Write the names with neat sketch of various part of
a stepper motor and describe its function in brief.

6
WU HieX & A= 91 &1 99 W

IRY & 1 ford g g9 sl &1 qui+
dag ¥ N |

OR((3121d1)

Describe the working of a common -emitter PNP

transistor as an amplifier.

U a9 Ufex fotHodlo TR & &1
BT 9Ui9 T U hRIR & By 3 &Y |
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Sem. V-AUTO
B.E. & EC.

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |

Answer all five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (3r21a1) (if)
An instantaneous current is expressed as

1=250 sin(314t+¢). Calculate rms value, average

value, frequency and time period of the current.

Udh deEfTd °RT i =250 sin(314t+¢) §RT Sada
@ TS 2| IRT & ARoYHoYHOAM, 3itHad
A, AMGRT AT I I=<IRTA B T D | (i)

5. Explain the principle of operation with logic

diagram of encoder.

4
sIPIsk & $i Rigia &1 auia difeis
ARG B AT BN |
OR (3127a) (iii)
Expain LVDT with its example.
JQIEXUT & |1 LVDT &I 9vi< & |
6. Define full wave rectifier with filter circuit. 4

3 1633505

IR fedl gRuer § qlees TR AT
T yfoRIer AT 81 rdn @ Al Rl
ST AT BIIT:

(31) e

@) v dterrg

(|) 9 em

(@) <

According to Faraday's laws of electromagnetic

induction, an emf is induced in a conductor

whenever it:

(a) Lines in a magnetic field

(b) Cuts magnetic flux

(c) Moves parallel to the direction of the
magnetic field.

(d) Lines perpendicular to the magnetic
flux.

BIs o fagd gEa uvv & | &

ITAR ATad ¥ URT fagga ass aa

I~ BIdl & 4 I ATcTd—

(@) g=ag a9 9 ysdl @

(@) gD BAdd B Hlcdl 2

(@) gHEoE 83 @ fen @ g
gAar @

(]) gD Beldd d ol*9dd Usdl @
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(xx)  Pieza - electric crystals are used for the
measurement of :
(a) Velocity
(b) Temperature
(¢) Sound
(d) None of these

xx) fUsa— faega feded &1 yAT fHar
ST 28—
(31) a7 B
(@) argHE Bt
(|) =f &t
(?) 379 4 HIs )

GROUPB

Answer all Five Questions.

Il ufg gl & SR o

4x5=20

2. State and explain law of resistance. 4

yfeRig & a9 &1 9dd auT SHd) ArEAn
BN |

NT5059

(vi)

(vi)

(vii)

(vii)

5 1633505

The Fleming's right hand rule is applicable to:
(a) Motor

(b) Transformer

(c) Generator

(d) None of these

YT & <1fe 8w &1 a9 an gidn =—
(31) Aex R

(@) aRumfE =

GIBSIGE R

() 379 9 ®Ig 8

Transformation ratio of a transformer is
given by:

(a) L/,

(b) E,/E,

(¢) N/N,

(d) Both (b) & (c)

gRUIS &1 ®UT=aReT SuTd ghar 8-
() LA,

(9) EJE,

(|) NN,

() @) T2 (=) <=
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(xvi)

(xvi)

(xvii)

(xvii)
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LED are fabricated form:
(a) Silicon

(b) Germanium

(c) Gallium arsenide

(d) None of these

LED &l 9117 SITdT 28—
(a1 fufers 4

(@) sAfrw @

(@) dfem adfezs @
() 39 9 BIg 8

A transducer is basically a device which

converts

(a) Mechanical energy into electrical energy

(b) Energy from one from to another

(c) Mechanical displacement into electrical
energy

(d) Electrical energy into mechanical energy

STASYIR Jerd: TS U1 I9 2 ol
9eadl 8—

@) Fifye St & faga sHof §

(@) Suf & th wU 4 TR ©U H
(|) Fifye faeenua & faga Reaa 9
(?) faga sul &A@ ot d

NT5059

x)

(x)

(xi)
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The emitter of a transistor is usually dopped

heaviest because

(a) It is the first region of the transistor

(b) It has to dissipate maximum power

(c) it has to supply a large number of
change carriers

(d) It has highest resistance.

Up giforer &1 vfier aE=aaar g9d

JfSre srar @ Fife—

(31) gg ¢irer &1 ugar RuA @

(@) 39 ferepaya zfed <ag H3AT BlaT 2

(@) 39 e Al HRIA amgfed
AT BT 2

(2) sa®r ufexiy 3ifSre 8idar @

Common collector amplifier has the highest:
(a) Voltage gain

(b) Current gain

(c) Power gain

(d) None of these

(31) dreew 4

(@) grT W9

(@) wfea o=

() 39 9 BIg T8
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9.

10.

Define and compare analog signal and digital

signal.
6

AT e aen fefoied Rivear &) e
TAT D! AT BN |

OR(312141)

Explain the working principle of thermocouple
vaccum gauge for the measurement of pressure.

<91 419+ =g Miewd fHafa e & sl
Rigia &1 avfq & |

Discuss NOR gate and AND gate with their truth
table and compare it with electrical circuits also.

6
NOR i€ @21 AND 9I¢ &1 ARAT 390 gadl

<gd @ |IT R aAT ga1 fagga uRuer 4
# BN |

OR (3721dT)

Explain with symbol and working of an SCR.
Compare an SCR with a transistor.

P.T.O
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9.

10.

Define and compare analog signal and digital

signal.
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Explain the working principle of thermocouple
vaccum gauge for the measurement of pressure.
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Discuss NOR gate and AND gate with their truth
table and compare it with electrical circuits also.

6
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OR (3721dT)

Explain with symbol and working of an SCR.
Compare an SCR with a transistor.
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